
Bridge

Colby Free Press Friday, August 20, 2004  Page 11

Crossword

Geech • Jerry Bittle

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

 Bidding Quiz
1. Pass. There is absolutely no reason to override

partner’s penalty double, and you should pass expect-
ing anywhere from a two- to four-trick defeat. The K-
x of trumps should prove especially valuable on de-
fense.

2. Two spades. There is quite a difference between
this hand, which is relatively weak on defense, and the
preceding hand, which can be expected to produce at
least three defensive tricks.

In the present case, you probably won’t win more
than a trick or two with diamonds as trumps. You there-
fore have an obligation to protect partner, who would
normally expect you to contribute three defensive
tricks. You have a right to expect to take six tricks if
spades are trumps, but, viewed defensively, your hand
is way below par. The best way of indicating that your
opening bid was based primarily on offensive values
lies in bidding two spades.

3. Three diamonds. Here you’re entitled to think that
two diamonds can be defeated, but even so, it is prob-
ably wrong to pass. North has no idea you have such a
powerful three-suiter, and the best way to tell him about
it is by cuebidding diamonds.

This picture bid should assist partner greatly in find-
ing the best game or slam contract. The cuebid guar-
antees no diamonds and a huge hand, one that is likely
to produce a bigger plus on offense than on defense.

4. Four spades. You can expect to defeat two dia-
monds here also, but again it is better to override
partner’s double because of the extraordinary nature
of your hand. You should assume that four spades can
be made (with 100 honors), and that two diamonds
doubled will not produce a big-enough penalty to off-
set this. Furthermore, if partner has two aces, there is a
good chance for a slam, and this possibility cannot be
ignored. It should be borne in mind that partner’s
double of two diamonds is a suggestion, not an abso-
lute command.

Three vital elements
 A squeeze is not really as mysterious as some play-

ers believe. Usually, what happens is that declarer
cashes his tricks and a defender finds he cannot dis-
card without costing his side a trick.

One of the primary characteristics of a successful
squeeze is that declarer finds himself in a position to
win all the remaining tricks but one. Let’s see how this
condition applies here.

Before play starts, South has only nine ready-made
winners, but after West leads a heart and East takes the
ace, South has 11 of the remaining 12 tricks. In other
words, he has all the tricks but one, which alerts him
to the possibility of a squeeze.

A second characteristic of a squeeze is that one op-
ponent has the burden of guarding two suits. Thus, in
this hand, East has to protect both spades and dia-
monds. West, his partner, cannot help him in this re-
spect, and might just as well be somewhere else.

A third characteristic is that when declarer leads the
squeeze card, there must be an entry to the hand oppo-
site. This requirement is called communication, and
without it the squeeze cannot work. Declarer has all
three elements working for him in the present deal.

Let’s say East returns a heart at trick two. South
cashes two hearts and four clubs, and East is helpless
when the last club is played. He must part with a spade
or a diamond, and whichever one he discards, South
acquires his 12th trick.

Observe that from the moment East takes the ace of
hearts at trick one, there is nothing he can do to avoid
this fate. All declarer has to do is to cash his heart and
club winners and keep his entries to both hands intact,
and poor East is a goner.
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